X 61410 8- 61°p10 8- = - - 019 {93 BUHaMKBdhA 8.10Wadd 8031150 anHamananWA
X 6110 8 L = 6T'+108 - 01S 1€/ BuHaIMKadhA a10Tadd 80%1P100 SMHaRMLaaA
19Uk WOL 8
- - 61410 8- . 61'¢108 p X 0€Z BUHBINSANA 8.10bed>
We10dogo WHHHIALAHS ou goxierso SUHIHIWEYS
X 88'688 598 Z¢ 614108 5 69'G/8 /58 7 - 019 | 02 0208 ‘8.10Fadd 80MLB150 SMHIMAHAWA
X T1'€9b 995 Zz- 6710 8- - 26'8vb 8SS ZZ- |- 01S | 01/ 0.208 "a.10ad> 80MLB150 SMHahMLBEA
£L'92F 662- £L'92¥ 66T = = £L'9T¥ 66T - X 00£ 8.LO520D 80X18100 SHHAHSHEL]
£ E 2 = z - 078 979 H01H3MESCSH LO UMHRE0E DWNBE SMHOMEIo0
= = E E - = 0z 579 801HaMERd 10 YMHRAOAIDWHEE BUHALLALOOL
» 5 - - - = TLT 129 enuHeed gegodd/A
IXMH €U
= = z ; Z 5 029 MXMHROLIN SHHITIOHG
= i e = = = 018 87S 801H39ERd 10 MHRAEOB1DWMEE SWHOMEIoL
z = a = - - 0TL £2S H0.1H3MERd 10 MMHPSOBIOWNEE SMHBLLALOL
% = - = = - 0FS 976 (#A20) 0WWeE OIMHALERO0T=dl OU MLIeLLag
= ™ = z = - 09 GZS (TA50) s0WyeE BUHEMEIOL 10 SMABILALION
0 3 5 B B Z Y1 125 enuxeed seaoddfn
IXMH €U
- - = g = . _ 025 HIHHROLM SHHHSALAHG
9UOUK WOL 8
LL'9TY 66C- LL'9Th 66T 61'p10 8- - 960kt LOE = 00§ (0£8°d+078'dD+0g/ do+
+00£'dD+079°d1D+0z5 d1o) oJeod - aobads
eiunugal suHesoduoHeHug MIWHhOLO|Y
o1 6 8 L 9 S v 3 4 1
uv”_hww_m““mx B sf._‘z.”m_\_%uwm“wm M_U_M_uwxmﬂm:% uszumomﬂwu gadan, | B4h0 2198ANAL Eadah suhwwm“_.mhx E_:m“:m:m wiod.o BUDLBERNOU SUHREOHIWMEH
OH3HUOLOM Bl WMHIhBHERH XI9B0HELIL OHBHLIOLD}, OHaMKdaBLL " voy

b3 £E££0S0 ewdog

suHathKkadhA aotadd etuhndar BUHEFOAUOHEHU(] WINHhOLOY '




